x107°

< o cot(y) >

<d @> (rad)
o
[N
[¢)]

o
TIT [T T [ TI T[T T[T I T I T[rrrT

S
)

1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

(k=]

CMSSW_CKTPUSU __RECO

—_— DQMjVOOOl:ROOOOOOOOleIgbZI:CMSSijkFitPu%LothQuadvREco
—— DQM_V0001_R000000001__Global__CMSSW_LowptQnoclean_ RECO
—— DOM_V0001_R000000001 _Global _CMSSW _looseSC__RECO
~ 100 - - - — 100 N T T "
g. E : : : g_ E : " f :
> gof- Al T = gof- SR 1 R R I RITd
N L : : : A F : : 1 :
7 60 SRR 3" 60F RIR RN R
g F : " : o I . . !
v 40F A {E v 40F SR{RE R
20F- AT 20F- SRl
0:_ : + ' .‘ 4t} - 0:_ : <>§‘¢ e
-20F ‘ —20F - [t | AT
—40F g -40F 1
—60F- -60F é“
-80F- -80F- 1ot
:. b bbb fuds by | do o b lild o by |<' Aoy _9_10(&:__. ol 1 L) b ._J_:_.__._:_!_.__._.__._! Db L
E i Il A e | | = [ . !
E B U R I ! | | D o N N
¥ j } ; 0.5 |-t fe i {- b Jocanas o1 1 S
osEt b [ i :
LT LR AR Y
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA- to beamline)

<OoOpPJ/pP_~> (Vv
PP, > (70)
O = N W N O

3 2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


